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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper contains 38 questions. All questions are compulsory.
(i) This question paper is divided into FIVE Sections — A, B, C, D and E.
(iti) In Section—-A, question numbers 1 to 18 are Multiple Choice Questions

(MCQs) and question numbers 19 and 20 are Assertion-Reason based

questions of 1 mark each.

(iv) In Section-B, question numbers 21 to 25 are Very Short Answer (VSA)
type questions, carrying 2 marks each.

(v) In Section—-C, question numbers 26 to 31 are Short Answer (SA) type
questions, carrying 3 marks each.

(vt) In Section—-D, question numbers 32 to 35 are Long Answer (LA) type
questions, carrying § marks each.

(vit) In Section—E, question numbers 36 to 38 are Case Study based integrated
questions carrying 4 marks each. Internal choice is provided in 2 marks

questions in each case-studyy.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section—-B, 2 questions in Section—C, 2 questions in

Section—-D and 3 questions of 2 marks in Section—E.
. . . 22 .
(ix) Draw neat diagrams wherever required. Take 7 = - wherever required,

if not stated.

(x) Use of calculators is NOT allowed.
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1. (B+2f+(3-2f w
(A)  GTCH RS TR | (B) SRUTcHeh IS T2 |
(C) G-TcH AUHT T=&T 2 | (D) SRUTTcHh ATHT G&T 2 |

2. ﬂmx=a2b3cn3ﬁ1y=a3bmc2,ﬁﬁa, b, ¢ T TN & Iaﬁ‘{xl”ﬁ'{yaﬁT
LCM a3b4c38, dm+nhIAAE:

(A) 10 ®B) 7
) 6 D) 5

3. Tordl stumsw "w p o foru, afe p, a2 1 faiora St 8, S8l a I arideh 9&T &,
qr p T 0 o fopment fonfsra s 2

1

(A) a B) a’

3 1

©) a’ D) a°

4. 1= 99 o1 g, we foumd e g 2

@A) 2+1=(@—1) ®) (v+x) =20x
(C) x3+3x2=(x+1)3 D) (x+1)(x—1)=(x+ 1)2

5. AR x2 + bx + b =03 <l P Il gt &, A b 1 TH &I ThdT & :
@A o (B) 4
€ 3 D) -3

6. FRd T, fag P, Q, R, W1 @ AB I IR 90 Wit § fervford i £ |
® °

@ : 2 ®
A P Q R B
fog Q, W1 @S PB ! 54 31gu1a § fawfaa e, 9837
A) 1:3 B) 2:3
) 1:2 D) 1:1
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SECTION - A

This section consists of 20 multiple choice questions of 1 mark each.

1. (\/§+2)2+(\/§—2)21s a/an 1

(A) positive rational number (B) negative rational number

(C) positive irrational number (D) negative irrational number

2. Letx=a2b3c?andy=a3b™c2 where a, b, ¢ are prime numbers. If LCM

of x and y is a3 b? ¢3, then the value of m + n is 1
(A) 10 B 7
C) 6 D) 5

3. For any prime number p, if p divides a2, where a is any real number then

p also divides 1
1
@A) a B) a’
3 1
© a’ @) a’
4.  Which of the following equations is a quadratic equation ? 1
A) 2+1=(@—1) ®) (c+x) =20V
(C) x*+3x2=(x+1)3 D) (x+1)(x—=1)=(+1)>2

5. Ifx2+bx+b =0 has two real and distinct roots, then the value of b can be 1
A O B) 4
<) 3 D) -3

6. In the figure given below, points P, Q, R divides the line segment AB in

four equal parts. 1
® @ @ < @
A P Q R B
The point Q divides PB in the ratio
A 1:3 B) 2:3
€ 1:2 M) 1:1
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7. T Al H A1 TGl SR HIcA el T SFIAE 3 1 7 7 | Th g Arges A ¥ fepredt e
8 | 38 FehTeft 118 77g o Tt U1 1 &H <l TRIRAT ©
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(C) 0.7 (D)

8. T dIBHEHH TR ?
(A) U HHHT YT HeT THET 2§ |
(B) <o Hed GHET B # |
(C) < wHsTg FIs Hod HHEu Bl B |
(D) @I | FHEY Bl ¢ |

9. < 7§ 3 H, ABCD U oo 7 o XY || AB|| CD 2 |zr%AX=§AD%,a‘r

CY:YB=
D C
A B
A 2:3 B) 3:2
C) 1:3 D) 1:2

10. FE AR ATHAATATR ?
(A) Toret 30 W 3a T H w9 t@Td Gk 51 "endt # |
(B) T STl foig | I T 3T T H - w@Td @il 371 Hehd § |
(C) aTe foig & 90 T 37a T H e WaTd Sl 511 et 2 |
(D) I % Tt foig T Toei-Ya 37K = o offe 1 1o 90° BT R |
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7. A bag contains red balls and black balls in the ratio 3 : 7. A ball is drawn

at random. The probability that ball so drawn is black in colour, is 1
3
A 7 B) 0.3
1
(C) 0.7 (D) -
8.  Which of the following statements is false ? 1

(A) Two right triangles are always similar.
(B) Two squares are always similar.
(C) Two equilateral triangles are always similar.

(D) Two circles are always similar.

9. In the adjoining figure, ABCD is a trapezium in which XY | | AB || CD. If

2
AX=§AD,thenCY:YB= 1
D C

o/ \y

\

A B
A) 2:3 B) 3:2
(C) 1:3 D) 1:2
10. Which of the following statements is false ? 1

(A) Infinite number of tangents can be drawn to a circle.

(B) Infinite number of tangents can be drawn to a circle from a point
outside the circle.

(C) Infinite number of secants can be drawn to a circle from a point
outside the circle.

(D) Angle between tangent and diameter at point of contact is 90°.
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11. < 71§ 3Bl 4, PA 71 PB 91 T58eh1 35 O 7, W&l TRI-t@M 2 | I APB 1 A1
g

A) 210° (B) 150°
(C) 105° (D) 30°
1 —tan?®30°

12 ftan?30° "
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sec 60°

13. 1.8 m T&1 T Y&k U fomfl § 38.2 m ol gt W 3 | 3&eh! 3Af@i & formet & Rret 1
IR B 45° 8 | A HSEE R
(A) 38.2m (B) 36.4m
(C) 40 m D) (38.2n/2m

14. < TS 3TTBf U, < Teh 1 It shT BoST 1 FT 16 em B | 9 g9 A S AB, S
BIE I I P T T DA 7, I TS 16 cm & | 37 QHI Il i (AT 1 TR 3

I
(A) 8cm (B) 4cm
(©) 2cm D) 3cm

15. 12 cm 918 A1 13 cm fades 918 1 0 v, 30eh! B & w0 Br=wn arel t
LT T STEARAA & | 59 318 <l oA T8 &

(A) 17cm (B) 18cm
(C) 22cm D) 23 cm
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11. In the adjoining figure, PA and PB are tangents to a circle with centre O.

The measure of angle APB is 1
P
A) 210° B) 150°
(C) 105° (D) 30°
19 1 —tan2 30° . 1t 1
© 1+ tan2 30° 18 equal to
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sec60°

13. An observer 1.8 m tall stands away from a chimney at a distance of 38.2 m
along the ground. The angle of elevation of top of chimney from the eyes of

observer is 45°. The height of chimney above the ground is 1
(A) 38.2m (B) 36.4m
(C) 40m D) (38.2n/2m

14. In the adjoining figure, the sum of radii of two concentric circles is 16 cm.
The length of chord AB which touches the inner circle at P is 16 cm. The

difference of the radii of the given circles is 1
(0]
Av .
P
(A) 8cm (B) 4cm
(C) 2cm (D) 3cm

15. A cone of height 12 ecm and slant height 13 cm is surmounted on a
hemisphere having radius equal to that of cone. The entire height of the

solid 1s 1
(A) 17cm (B) 18 cm
(C) 22cm (D) 23 cm
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16.

17.

18.

19.

20.

IS x AEH + y HI = 7 Tgoioh; HILH, WETh 3R FgeTeh o §1d ol SIAIIH T 7,
T‘ﬁx+y+zwtﬂq%:

(A) 6 B) 3

©) 2 D) 1

=1 3rfepe, 100 ferenfo= gro wes sperr-odien o T fohy 7T 376 <3nid & ¢
YT 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25
Torenfiat < e 6 | 28|24 15| 2 | 4 | 1 |20
fort @1 3lenel bl 3ftEd, AT © 7

(A) 29 3R 33 (B) 25 3R 28

(C) 283129 (D) 33 311 38

Teh G191 thehed 0T, 3 T 9] WIST HEAT s ATH BH <hl TRehdT & :

(A) (B)

D= |
W W

(€) (D)

S : we HE 19 quT 20 T § T MR (A) % 9= Uh @ (R) fean g | e

(A) IINHE (A) AT G (R) GHT T & 3R Th (R), AMHUA (A) I qof e
T 7 |

(B) IINMHAA (A) TUT T (R) QHI TA &, g Th (R), 3T0ReH (A) 1 of =men
T Har g |

(C) AfTHH (A) T 8, Tg doh (R) 3T 7 |

(D) AfFHY (A) FET 7, W dh (R) T2 |

W(A):@WG%WSiHGZESCOSGZ—g
T (R) : 0, (0° < 0 < 90°) % Torefl 71 % 71T sin2 0 + cos? 0 = 1

ANHYT (A) : T THTH A1 : 3,6,9, ..., 198 T I Ug (YUH U ! 31RX) § 1091 U,
168 % |

Tk (R) : If¢ ‘@’ 37, Teh IR Al o oH 3R AT ue 21, &1 ‘d” TH1=R I
- g, A AH TC T ndAf T fen I gl —(n—-1) d ¥ |
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16. If x median + y mean = z mode; is the empirical relationship between

mean, median and mode, then the value of x +y + z is 1
A) 6 B) 3
©) 2 D) 1
17. Following data shows the marks obtained by 100 students in a class test : 1
Marks obtained 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25

Number of students | 6 | 28 | 24 | 15 | 2 4 1 20
The median will be the average of which two observations ?

(A) 29 and 33 (B) 25 and 28

(C) 28 and 29 (D) 33 and 38

18. The probability of getting a composite number greater than 3 on throwing

a die is 1
1 1

@A 3 ®) 3
1 2

© 3 D) 3

Directions : In Question Numbers 19 and 20, a statement of Assertion

(A) is followed by a statement of Reason (R). Choose the correct option

from following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of (A).

(C) Assertion (A) is true, but Reason (R) 1s false.

(D) Assertion (A) is false, but Reason (R) is true.

4
19. Assertion (A) : For an acute angle 6, sin 6 = 5 = cos 0= — 5

Reason (R) : For any value of 6, (0° <6 <90°
sin?0 + cos20 = 1. 1

20. Assertion (A): Foran AP, 3,6,9, ..., 198, 10th term from the end is 168.
Reason (R) : If ‘a’ and ‘I’ are the first term and last term of an A.P. with

common difference ‘d’, then n'® term from the end of the given A.P. is
I—(n-1)d. 1
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TAGUS A 5 AT AY-ITT TFT & | TAH T H 2 3H § |
21. (a) 2kg¥d 3R 1 kg 3R &1 qod Topeft fgT 7 320 AT | 4 kg ¥9 3R 2 kg SR HI
Ted T 600 B 1T 7 | A 1 kg T 3TN 1 kg I T God hAT: T x AR T y 3,
a3 feufa =1 it o ush aHier fehm & €0 § =9 hHifee 3R S Hifse
Top T g wrefienao foiehm Tra 8 a1 e |
3T
(b) xRy o fore g1 Hifsre -
\J2x +1/3y = 5 31K
\/3x —/8y = /6

22. @1 @S AB % R % fidmis A(-2, -2) AT B(2, —4) & | W@ @S AB R fsg P 34
e foa & 5 BP =2 AB | fig P 3 fwros s e |

23. (a) feIm N % % sin (A — B) = sin A cos B — cos A sin B; SHbT JINT ik,
sin 15° ST A 1A SHIRTT |
3nerE
(b) IfCsin A=y B, dl cos A 3R tan A &l y o Ui § e hifaT |

24. 3fe AD 3R PS a3 AABC 31 APQR Y #rfedrspie 2 5@ AABD ~ APQS 7 |
firg Shifsw 5 AABC ~ APQR |

25. 52 Tl ! Teh TE! %l hed THT Teh Tl IR ST & | FTfehdl S11d shiforg fob Ry g3t aan

(i) U qE ST Il & 2 |
(i) AT H AR |
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SECTION - B

This section has 5 very short answer type questions of 2 marks
each.
21. (a) The cost of 2 kg apples and 1 kg of grapes on a day was found to be
T 320. The cost of 4 kg apples and 2 kg grapes was found to be ¥ 600.
If cost of 1 kg of apples and 1 kg of grapes is ¥ x and ¥ y respectively,
represent the given situation algebraically as a system of equations
and check whether the system so obtained is consistent or not. 2
OR
(b) Solve for xand y :

\/§x+\/§y=5and
VB x-By =5 2

22. The coordinates of the end points of the line segment AB are A(-2, —2) and

B(2, —4). P is the point on AB such that BP = % AB. Find the coordinates of

point P. 2

23. (a) Itis given that sin (A — B) = sin A cos B — cos A sin B. Use it to find
the value of sin 15°. 2
OR
(b) Ifsin A =y, then express cos A and tan A in terms of y. 2

24. AD and PS are medians of triangles ABC and PQR respectively such that
AABD ~ APQS. Prove that AABC ~ APQR. 2

25. While shuffling a pack of 52 cards, one card was accidently dropped. Find
the probability that the dropped card
(1) 1snot a face card.
(1) 1s a black king. 2
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26.

27.

28.

29.

30.

Qgug -7

TGS T 6 TH-STHATF 2 | TS T H 3 3H ¢ |

(a) Tag it for/3 wh suftm gen g |
AT

(b) T feu el H, Us & foiuw T 31ET To7d 9qmsY 3T 3799 3T <l Saren
IS L

() 2X3X5X7+7UhASIHES |
() 2X3X5X7+1ThASIHETS |

TEUE Tx% + 18x — 9 % IIH WA HINT | 37q: Th UHT SgI¢ gy faehT T
[, TeU T T=ehi & A & TAE & |

=1 gefiertor e 61 B STeiE ™ fafr & Ja Fifsw
2x—y—-2=0
—4x+y+4=0
W e wtenn @ fefid W y-s1e1 1 f9-F fagan o wred & 349 fogati
Sife 1 fTue 37at oft Fra it |

x 3R y H T UHT Heiel A1 HIfC fop foig P, y) Tog3ti A3, 5) 3R B(7, 1) & aHgey
B | 3Td: x-3T8 ﬁ?yﬁ%%ﬂﬁ@ﬁﬁ%ﬁ%{%ﬂﬁwsﬁﬁgﬁﬁAWB@

TAGEY ¢ |

(a) T Brepfida gdafier =1 fag Hifse

1+cosecA  cos®A
cosecA  1-—sinA

YT

(b) THT 2A + B 3R A + 2B HI & =0T & [ foTT sin(2A + B) =§3ﬁ1
tan(A + 2B) = 1 8 | cot(4A — 7B) T HH FTd <hHIfST |
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26.

27.

28.

29.

30.

SECTION - C

This section has 6 short answer type questions of 3 marks each.

(a) Prove that \/g 1s an irrational number. 3
OR
(b) State true or false for each of the following statements and justify in
each case : 3
(1) 2x3Xx5XT7+ 71isacomposite number.

(1) 2x3x5x 7+ 11s acomposite number.

Obtain the zeroes of the polynomial 7x% + 18x — 9. Hence, write a

polynomial each of whose zeroes is twice the zeroes of given polynomaial. 3

Solve the following system of equations graphically : 3
2—y—-2=0

—4x+y+4=0

Also, find the absolute difference between the ordinates of the points

where given lines cut y — axis.

Find a relation between x and y such that P(x, y) is equidistant from the

points A(3, 5) and B(7, 1). Hence, write the coordinates of the points on

x-axis and y-axis which are equidistant from points A and B. 3
(a) Prove the following trigonometric identity : 3
1+cosecA  cos®A
cosecA ~ 1—-sinA
OR

\3

2
and tan(A + 2B) = 1. Find the value of cot(4A — 7B). 3

(b) Let 2A + B and A + 2B be acute angles such that sin(2A + B) =

30/5/1 ~ 15|Page
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31. < e 3mhfa #, XY q2n XY, O g oot foreft o W < qwier wasi-3@Td & | ot fiig C
T TG AB, XY %1 A 721 XY &1 B R dfaede &t 2 | fag s f% AB, 99
h <hg; I Teh HIUT ST & 1A LAOB = 90° |

X P A Y
C
Ol
X' Q Y B
QU -H

TAEEH 4 H-ITWI A E | T T h 5 AF & |

32. (a) T 2-37ehI TEAT 3194 37hi o AN & Hd THT § 3T 37T o UGS o drd T4
2 31fereh oft 2 | FE T hiIfT |

YAl

(b) p T () AF A Hifoe Fees foe fgama T (p +4) x2 —(p+ 1) x+1=0
o ToT ATEA(aeh Ud SIS &1 | 9 YehR TH TgeTd Sieh vl o 7o Hi 31Td hitwT |

33. 3fg forelt Frys 1 T T o TR 31 G1 YAt i F=1- T foigatt W wfaeeg
% fotu wes T i S, @1 3 3= Q1 YoTe ueh € 3ruma | fawnfea & St € | - fag
HIfT |

1Y &1, S hA o1 ey +ff foafgw |

34. (a) 14 cm Y 9Tl Ush 318 TAhg! & T4 o Th Heteh ° 1.4 cm SATH 1ol JTTIhad
e fehTel STd 2 | FHehTel ST Hehnt aTet TieTe hl el & HTd shifoT, | 51t 3|
1 %ol 81T &h ¥l F1d hIT |

AYAT

(b) 24 cm FETE IR 5 cm FISIT A1 Th 3 91 ¥ 12 cm H4TE 3R 5 cm B s
Tl I1% GG L [HehTel SITd & | Sl 314 h1 T T4 J81 &%l J1d Shifa |
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31. In the adjoining figure, XY and XY are parallel tangents to a circle with
centre O. Another tangent AB touches the circle at C intersecting XY at A

and XY at B. Prove that AB subtends right angle at the centre of the

circle; or ZAOB = 90°. 3
X P A Y
G
Oi
X Q Y' B
SECTION -D

This section has 4 long answer questions of 5 marks each.
32. (a) A 2-digit number is seven times the sum of its digits and two (2)
more than 5 times the product of its digits. Find the number. 5
OR
(b) Find the value(s) of p for which the quadratic equation given as
(p+4) x2—(p+1) x+1=0 has real and equal roots. Also, find the
roots of the equation(s) so obtained. 5

33. If a line is drawn parallel to one side of a triangle intersecting the other
two sides in distinct points then it divides the two sides in the same ratio.
Prove it.

Also, state the converse of the above statement. 5

34. (a) From one of the faces of a solid wooden cube of side 14 cm, maximum
number of hemispheres of diameter 1.4 cm are scooped out. Find the
total number of hemispheres that can be scooped out. Also, find the
total surface area of the remaining solid. 5

OR
(b) From a solid cylinder of height 24 cm and radius 5 cm, two cones of
height 12 cm and radius 5 cm are hollowed out. Find the volume and
surface area of the remaining solid. 5

30/5/1 ~ 17|Page [l M= P.T.O.
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35. TWeh %ell b 35 Tt < fefercan Sife e o 39 wr = arfererr d feg e 8

TR (kg ®) 38-40

40-42

42-44

44-46

46-48

48-50

50-52

i figen | 3

2

4

5

14

4

3

T R 3T G188k YR < S19 1 3L ATd SHIT |

qgie -¢

TGS § 3 ThIUT 7T FTHTRA U9 & | Teh T o 4 3eh & |

36. Teh fhHM o T Teh JATH Y[H 1 IS & | I8 30 W TIg-H-58 TRR feed T T

Heh T SHEHT =T8T &, wiaT 11 forst o femmn mn g

AR fH o Zhe hl AT 35 m 7 |
SR ST o TR 9T fe 91 o SR i

(i) 1 T IS T T TR ATeHt AR h1 TS T hifaT |

(i) TS TR i % Tohe T ER ST 8, ITeh! Teh Y[SIT Shi TaITS AT ShITIT |

(i) (a) = IR 3R BHEIhd W T I8 8 98 ITHT IT&dl & | T 50 Ifd =

et <hl T °TE 3T b1 @ T ShiT |
YAl
(iii) (b) ¥ TS HT &R, S8 TR 1 § A1 < 5T FATHR fH 3 Ihs I
%ol Y AT T BT |
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35. Medical check-up was carried out for 35 students of a class and their

weights were recorded as follows :

Weight (in kg) 38-40

40-42

42-44

44-46

46-48

48-50

50-52

Number of Students 3

2

4

5

14

4

3

Find the difference between the mean weight and the median weight.

SECTION - E

This section has 3 case study based questions of 4 marks each.

36. A farmer has a circular piece of land. He wishes to construct his house in

the form of largest possible square within the land as shown below.

The radius of circular piece of land is 35 m.

Based on given information, answer the following questions :

(1) Find the length of wire needed to fence the entire land.

(1) Find the length of each side of the square land on which house will

be constructed.

(111) (a) The farmer wishes to grow grass on the shaded region around

@111) (b)

the house. Find the cost of growing the grass at the rate of ¥ 50

per square metre.

OR

Find the ratio of area of land on which house is built to remaining

area of circular piece of land.

30/5/1

19|Page

ElAE]
L o
cuir[E]

P.T.O.



37. 10 cm YT 9ol T THETE BIYS T 1 cm Yo 916l 9HaTg BIYe s91¢ TT0 8, S i 54
T 4 Temmn T @ | weell di W weh By, gadl ufed § i By, el O aie Brs
Fefe |

EESIRIES
ol ufed
dradt gfea

A A |
AAAA |
| I l l : ausﬁlfrﬁﬂ
UL ST oh ST TR FHIGR ¢ 1 TN hid U = T o I G :
() Twd faeh i 3 o fpan Brya s 8 2
(i) @ =t ufed o ot fpa By s 8 2
(i) (a) & Ufer T U 1 cm YT 9ot Fed feba YA T & 7
e

(iii) (b) 5af & 104 Ul ¥ 59 et 61 o1 T, Uge! 4 R § o= Fiagsit i

%ol T | Tt 3tferes 2 2 ufteher s |

38. I wifen Hifeat, fs swfi-weft aifdn 1o, it R a1 foum Hfeat oft e STam 3,
fem % eramet 3 A & " JEn 0 % foe uew deTge gen Yo S § | 6
T % <t <l Hi@e 5 T 20 B2 (1 $e = 30 T b St Bt B | Hifet gefera w9
T e 3 Iq T T YgH HE ¢ |
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[} [ ]
37. In an equilateral triangle of side 10 cm, equilateral triangles of side 1 cm

are formed as shown in the figure below, such that there is one triangle in
the first row, three triangles in the second row, five triangles in the third

row and so on.

1%' Row
ond Row
A 8! Row
AA |
I
|
|
|
|
I I | I | :
I I I I | !
1 1 | 1 |
10" Row

Based on given information, answer the following questions using

Arithmetic Progression.

(1) How many triangles will be there in bottom most row ? 1

(11) How many triangles will be there in fourth row from the bottom ? 1

(111) (a) Find the total number of triangles of side 1 cm each till 8tk row. 2
OR

(111) (b) How many more number of triangles are there from 5t row to

10th row than in first 4 rows ? Show working. 2

38. Passenger boarding stairs, sometimes referred to as boarding ramps, stair
cars or aircraft steps, provide a mobile means to travel between the
aircraft doors and the ground. Larger aircraft have door sills 5 to 20 feet

(1 foot = 30 cm) high. Stairs facilitate safe boarding and de-boarding.
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Teh forT o grars 1 Shge i (F9ae) T 15 $ 1 Sa1S W | Th Higl R 1 foAm
¥ 15 Fe 1 &fae gl @ T R |
U SR oh TR W, T30 9941 (1) 37 (i) & ST I
(i) % IV A Hive e R =gt S F 15 e FH @S ! FA1@e d Tga- &
ferg gehrgd 2 |
(i) <A Sl TG o T5aH o ToTT IUFRT <hl AT aTett Hifeat At ofars Fra hife |
3Geh 3TATeT, ffetRad o & fertl weh o1 ST EifSTT
(iii) (a) I¢ TEN hHI ARG Toh Tga- o 1T 20 B el HfeAT 60° o HIT T Fehl
&1, 1 gtarl < =Ee <, qfl ¥ Fers 7 HiY | (/3 = 1.732 1 W=
L 1)

AT
(iii) (b) SEF ¥ 20 X W fT0M % @™ ! FRGe T Tga- & fog Hifedi i
A S ST R BT =TT, A 3+ o 30° H 31k el &1 Tehat 8 ¢
T ST, o @ € R % sER Y &fes g ot Jma Hife |
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An aircraft has a door sill at a height of 15 feet above the ground. A stair

car 1s placed at a horizontal distance of 15 feet from the plane.

Based on given information, answer the questions given in part (1) and (i1).

(1) Find the angle at which stairs are inclined to reach the door sill 15

feet high above the ground.

(1) Find the length of stairs used to reach the door sill.

Further, answer any one of the following questions :

(111) (a) If the 20 feet long stairs is inclined at an angle of 60° to reach
the door sill, then find the height of the door sill above the
ground. (use \/5 =1.732)

OR

(111) (b) What should be the shortest possible length of stairs to reach
the door sill of the plane 20 feet above the ground, if the angle
of elevation cannot exceed 30° ? Also, find the horizontal

distance of base of stair car from the plane.
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